There are 57 points in 6 questions, plus a S-point bonus question, totaling S pages. Questions 1 & ¢
are worth substantially more points than the others.

General Instructions: Assume acceptability judgments as marked. Assume that all anaphors are
not exempt, i.e. assume they are subject to Principle A. In questions that do not ask for trees, feel

free to draw trees or labeled bracketed structures if they will clarify your answer—you may
abbreviate them as you see fit.

You may use blank backs of pages for rough work or for extra space. If a back page contains material
you want to have graded, be sure to indicate this on a front page.

Aid allowed: One 82 x11” sheet (both sides).

1. (8*2=16 points) Explain why each of the following sentences is ungrammatical by ‘ 1 /
naming the grammatical constraint or principle that is violated. (Do NOT describe L / 3
how to change the sentence to make it grammatical.) Identify the specific 2
element(s) in the sentence that are relevant. You may insert brackets and/or other L l ( Z
annotations in the sentence if that will clarify your explanation. 3
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b) *What did who permit Susie to purchase?
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d) *Gerard believes to be obvious that he will lose
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2. (3+3=6 points) VG A
a) Und.er what assumption (that we have not otherwise adopted) would the grammaticality of the

following sentence be expected, given Sportiche’s theory of quantifier float that we discussed?

(1) The students have all been complaining about the midterm.
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b) What two assumptions (that we have adopted) would the grammaticality of the following
sentence support, given Sportiche’s theory of quantifier float that we discussed?
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3. (2+2=4 points) Suppose a fellow student suggested that the reason why the following sentence is
ungrammatical is the Strong Crossover Constraint, because who has “moved across” him from its

theta position in the AP headed by excited.
*Who; strikes him; as being excited about Spring Break?
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(ii) Why is the sentence actually ungrammatical—what constraint/principle does it violate?
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4. (5*2=10 points) Use only the data given below to assess whether the bracketed string in (1) forms a

constituent.

(1)  Ted gave [Fido a bone on Saturday].

i) For each of the following sentences, state what it tells us about the (possible) constituency of
the bracketed string. Briefly justify each answer.

a) *Ted gave {him/it/one/there/then/do so}. (not compatible with meaning of (1))
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¢) Ted gave Fido a bone on Saturday and Rover a treat on Sunday.
O codr diaben Yok dmY acmﬂy a0 v g cmsheashoms ke H\U‘) o the farT

W\' e IESW‘N\U m\ww s y(o\mm”\}\'\w' 13 M\mql-onw’f.

2 d) Ted gave Fido a bone on Saturday and Ariel did give Fido-a-bone-on-Saturday t0o.
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O ii) What do you conclude from (i) about the bracketed string in (1)? Justify your answer. |
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5. (4 points) Explain why the following sentence is NOT ambiguous, in particular, why the
interpretation paraphrased in (ii) is not available while the one in (1) is:

Where did Wilma demand to know whether Fred might be sleeping?
(i) Where was Wilma when she demanded to know the following: Might Fred be sleeping?

(ii) What is the location such that Wilma demanded to know the following: Might Fred be sleeping
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6. (17 points) Draw the S-structure tree for the following sentence. (You may abbreviate one-word NPs
and one-word DPs with triangles. We suggest turning the page sideways. )

(1) The star that had impressed critics was likely to be hoping to win an award which she could
later sell.
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7. BONUS QUESTION: You may earn up to an additional 3+2=5 points.

a) Neither of the Crossover Constraints can explain the ungrammaticality of (i). Explain why not.

b (1) *Whose; book will he; buy?

\

b) How could the ungrammaticality of (i) be explained?

THE END



